Remember

Dividend = Divisor = Quotient

- Quotient
15 Dvssor \Dividend
7

i Division Steps |
D - Divide | 476
M- Multiply  4:9=0 9)4284
iS - Subtract | 9x0=0 .
- Check  42:9=4 42
' B - Bring Down | SRR
| i 9x4 =36 > 3_6_”_
| Note: If your answer does hot i 8+9=7 68
i terminate (end in 0), you must add a | . :
| decimal in the dividend and add as i Ix7=63 63 |
i many zeros as hecessary foryour | 54+9=6 54
| answer to terminate or repeat. i 9x6 =54 —>54
i Unless the teacher tells you where | _0

to round your answer.)



